FTHAEE BEBBIZHBTIERBRERVEFMLGRESR O T [#ER]

XIEM2 | DEFRFMBELE(FR2]IEIERET S,

A BREBEOHEICERIHNRMTH - (RRENEEBFEICHLTHEREZ100% ]G ETH=15HT)

B: A HBOHEICHIRENRNH o= (REEAFEBFREISHLTI[70% =FME<I100% ]G ETH=1HT)
C:HREBHBOMEEICHRNS o= (REENFEBFREICHLTI50% = ERE TR EETHHEHR)

D: S HEEDHEIH L THRMN G, o= (RRENFEEEREICHL THERE 0% )G ETHH=15H)

— REBROELXBREERT O-ODEEEREEREP THANREELAL., FLEHNRRANTEGVLDLGEDSE

1 EXRBRICHRLHEZOREBZITHT HETE

&H 1

#fE B RS9 ST (FERED
EXBRE

A B C D = &

1 WSz D<bEELIT. REL-ERZRILT S 1 2 3
2 KETESHRICEDDAZE L HLLADTNEDLD 1 1 2
3 MIE-HE-FETCORLEENGAD 2 2
4 EOEVWRIDLTELT ENTEDM DN GMIEZE DS 2 2
= 2 6 0 1 0 9

1/6R=Y




2 EXBRICHRDIEFRMGREROEZFETMER (KPD 1239 551

KPIIZx 9 4 5Fifl ($54E2%%)
EXKEE

A B C D -
1 MBI EDCHEELIC. RELI-ERZRIET S 1 4 1 6
2 KETEZHRICEADAIAZTEOL HILLWLADTNEDLS 6 5 1 12
3 EE-HE-FETCOFEENTZD 4 2 6
4 BOEWRDLTELST ENTEI R AL HIEEEZ DS 4 4 1 9
=11 15 13 3 2 33

2/6R—2




OEXRBEILDOFHME[#IER]

HEEGITT: @1l Eo<sLLEIc. ZELEEHZEILTS
1 EEOHIEBZICK T HEE R UEHE
B RK 5 E B
it RAFEREME B i
FAE(E (H30) | B4EfE(R6)
DR EMIRAZE 48.318M 49.318M 44.718M B
QAMEES 6,023m 6,504n 17,704n A
QETHEEDFHRMEEHK — 40 A 31A
2 BRMGHREROEZEFZETMIERE (KPD (2xt 9 551
KPIIZxt 9 55l (F84520)
BRI A (T0%BLE | (s0%RLE D
(100% LA L) 100%33) | 70%%:%) (50% K i)
(1) REYOSMINEELERUVREL-RIBOER 1
(2) BREFESIAMDERK 1
() MEDBE RIZM T1=FHEIY 2
(4))BTAZXFOBEC AR L RUHREE~DXIE 1
G)EFHADIMBXIE 1
&t 1 4 1 0

3/6R—




BEREIR2: DL SEFICEIPEIA EEPL., FLLAD 2<%
1 EEEOHEBZITH T H5EE RV
B BE 58 XE B
H1R RAFEEEE B
£ #{B(H30) | BR(E(RG)
OABIZHEIFEHHSENRE (BRA —ERH) A 58 A A 33A A 130N D
QBEFRAODRIHICERVET B -FE-EADE — 44 4t A
2 B ROEZERGEFTMIER (KPD 12X 9 551
KPIIZxt 9 55Tl (F51E %0
B KRR A B C S
(1009%51E) | (TORZE | TSONEL | (s00k)
(DWEXAZADQELERRAORUVEFRAODORIH 1 1 1
(2)EEZRDFERICLABE-EEDRE 1
Q) BE-EEDREE 1 2
(4)INPZAERUEREDFEFLEIKUADSH 1 2
(B) REZHLDZEEBDHHE 1
(6)HELimFizBL-ERERVEZADDEIH 1
&t 6 5 1 0

4/6 R—




BEEIES 1 HE - FEHTOFLENLAS
1 EEOHIEBZRICx 3 5EE R UET
BB R By
E1R RAFEERIE B i
£ #{B(H30) | BR(E(RG)
OEFEHEER 113X 100 A 78N B
gﬁg%a«bﬂ\iﬁrmﬁﬁbﬁﬁaaoaitsza,@\am&oa —6.5% 82 0% 52,6 .
2 BRp7rER O EERGFHMIER (KPD 2% 9 551
KPIIZxt 9 55Tl (FE1E %0
SRR A (To%kiE | (s096kLE L
(100% LA L) 100%3) | 70%%:%) (50% K i)
(D HEWEHEIBOXIE 2
()R HE - FETETOUN B DLLKEE 2
(B)RDLLTHE - FETCLGALEMCENTELIREDY 2
&t 4 0 0 2

5/6R—




HEXEGIEL: BDmEmL ' &l THESTE

ENTEDE

9 ) H9 %l E D

1 IBEOHEBZIZHTH2EE KRV
BRRR 3R TE B
bi=t:] R4FEERE B i
HAEE(H30) | BIEE(R6)
DR SHIARFINTEEL TS ERLLETRDEIS 67.0% 77.4% 62.9% B
®iﬂﬁ®iﬁ§]7§“iﬁ%1tbs B hH S MO TS ERL 49.8% 52 0% 45 6% B
HETRDEIS
2 BARpILHER O EEEZEEGFTMIEE (KPD [2xt9 551
KPIIZx 9 4 5Fifl ($54E2%%)
BRROETER A B C S
, (70%LLE | (509%L1E :
(100%LL L) 1009%3555) | 7093k 5%) (50% &)
(1) BAREEDHIZERE 1
(2) FfE el RE RBEARZRDIEE 1
() ETRICKAE A EEN DB E 2 1
(4)EECHRELEF O DHEHE 1 1
(5) i (CH T B K D5&1E 2
& 4 4 1 0

6/6R—




